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%ISSUES_RESOLVED = ([Resolved Issues] / [Total Issues]) * 100

Llodss Jo (980 dS Cawl (3Miie 9 WYBI sldad swssplidResolved Issues «Jgoyd ol )d
Cawl 05953 30 CWILie 9 WYKL sluad S susasplid Total Issues 9

L MSP o uﬂ_,w,p Juo)d duwl>xno LSLQUL'Z@)‘}\ 6\43}03 col.«.‘) LSUBJ}QJS JSlbe o Ltbdj.ojs o2
S QL) alio Jgayd 393 55 4 4295 b Wl 9

12919 Sdioid jolwl g Cd i o) dunlxa, £

%COST_COMPLETE = ([Actual Cost] / [Planned Cost]) * 100
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Planned 9 ¢l 095 ) C)ySU 2By Sladoia Coazn sdisoladActual Cost cdgoyd cpl o
Sl 01939 93 0l (Gi0ydaliyy Sladiuid Egaze o0 LiICost

:k;..él.g o) uul.w‘).g wﬂg\g J0)d dawwlxs, V-
%TIME_COMPLETE = ([Actual Duration] / [Planned Duration]) * 100

Planned 9 cuwl 8593 33 048G (2819 Olo) e sidsgladActual Duration «Jgayd ol 5o
ol 0953 )3 04 (§5ydeliyy Oy it sdiaspLidDuration

D JueSS 5Ly el lia! 53 Cd ity o) daslms, V)
%TASKS COMPLETE = ([Completed Tasks] / [Total Tasks]) * 100

9 Nlodusy OLL 4 0gSU aS Cwl 3la)8 sluad ousasplasCompleted Tasks «Jgayd ol o
Sl 8593 )0 )y sluas (S swasplidTotal Tasks

10595 Jad Curndg (il y3 Cd et Juo)d duwwlna, VY
%PROJECT_PROGRESS = ([Current Progress] / 100) * 100
Sl 03953 (Jad Cd oy duoyd odidapliadCurrent Progress «Jgeyd ol oo

S ool D93 0595 )3 (2819

0y oSS (S g wleol g3 Cd il oD dinloma, VY
%UNITS_COMPLETE = ([Actual Units] / [Planned Units]) * 100

Planned 9 sl oo JusSS (¢SG (2819 sl u>lg sdsasoladActual Units cdgeyd ol 5o
Sl 00 (§3ydelyy (S 19 sdidsplaUnits

il Cd b Ol (ol 3 Cd s oy duslxa, VY

%TASK_PROGRESS = ([(Actual Start - Start) + (Actual Finish - Finish)] / [(Duration)
* Number_of_Tasks]) * 100
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&’)U sdiadpladStart «cwl dadsyg 299 &0 @JU sdiaspladActual Start «Jgeyd ol o
Finish 9 cwl dadsg (2819 OLL Fo)b sdsaspladActual Finish cdidsg odds (§50)deliy £9 1%
el daddg 0us (§3)deliy OLL oyl sdiaaplas

0y BB U9 ulal 33 G i Juoyd duwlna, VO
%TIME_UNITS_COMPLETE = ([Actual Time Units] / [Planned Time Units]) * 100

Planned 9 ¢l 098G (2319 Olo) S d=lg sdiaspliadActual Time Units «Jgeyd ol o
ol 00§30y Olo) S Ul sui@s0lidTime Units

a3 S Uy polil 33 Cd e Juo)d duwlxs, VF
%COST_UNITS_COMPLETE = ([Actual Cost Units] / [Planned Cost Units]) * 100

Planned 5 cusl 0SB (2319 43 Sl u>ly susmspladActual Cost Units «Jgesd ol 53
ol 0 (§50)d0 5y dioid Sld U>lg ouasolidCost Units

g 03laiwl MSP ($leoig 0 o (2819 Cad ion Juo)yd dawslne Slys Lilg3 2 w6 U 90,8 oyl

1ol plxdl D5 Olne polul g3 € il oy dusolnas, VV
%WORK_COMPLETE = ([Actual Work] / [Planned Work]) * 100

Planned Work 9 ¢l odi ‘al.?d\ 299 L8 Olne ssdspladActual Work «Jgayd ol o
el 0 LS}?)‘L‘UJ% JS Q!;m RV XE VA

109 Curndg (whl 33 Cd G duo)d duwlns, VA
%BUDGET_COMPLETE = ([Actual Cost] / [Planned Cost]) * 100

sdidslid Planned Cost 9 cuwl 098G (2819 duza susmsgladActual Cost «Jgayd (pl yo
el 00 (G)deliyy dioid

s JueSS g dldad (el 33 Cd s Juoyd dunlxo, VA

%TASKS COMPLETE = ([Tasks Completed] / [Total Tasks]) * 100
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Total 9 Llouds JueSS OgiSL aS ol (b g dluad susasplidTasks Completed «Jgayd ol )o
el sl g slual S sdiaspladTasks

10U B3I yamass ailie dluad (bl y Cd ity Juo)d dewlxs, A
%RESOURCES_ALLOCATED = ([Resources Allocated] / [Total Resources]) * 100

vamass LT 4 09386 aS Cuwl (alie dlial saimsplidResources Allocated «Jgeyd ol 5o
sl 39290 malio Bldad (S odiasolid Total Resources § sl ou ool

S SS MSP (saofg o (2819 C8 s Juo)d duwslen o L5)38 05 W g0,d oyl

10l (§30)40ly (SU)9) Skl 9 diidS (Sa)g)y Sl Lwlao! y3 Cad iy Muoyd danwlme, A
%DAYS_COMPLETE = ([Number of Days Completed] / [Total Planned Days]) * 100

238 9SG 4S ol Qg dluas siasplidNumber of Days Completed «Jgeyd (ol yo
ol 00 (§3y40ly Slajg) oldad S ediasplid Total Planned Days 9 <!

10 (§3ydeliy 3yShas Olime s (2819 3yShas Olime Cund wlawl 39 C8 iy Loy duulea, AY
%PERFORMANCE = ([Actual Performance] / [Planned Performance]) * 100

Planned 9 sl 038G (2819 3,Shes Olne sudsplidActual Performance «Jgeyd ol 5o
ol 04 (§50deliy 3,Sdas Ol sl isPerformance

1S U9 oSS Olne (wleo! g3 Cad i Juoyd danloma, AY

%WORK_UNITS_COMPLETE = ([Completed Work Units] / [Total Work Units]) *
100

9 Cowl 00 JusSS (5)8 Slau=lg sldad swispladCompleted Work Units «Jgeyd ol )a
Lol ()8 Sauxlg dluad S sussplaiTotal Work Units

rouilandl (s g Slad uluol 3 Cad iy Juo)d duslea, AT

%TASKS _REMAINING = ([Remaining Tasks] / [Total Tasks]) * 100
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Total Tasks 5 sl odile 3L 4S sl Ll g dlual oidssLiadRemaining Tasks «Jgosd ol 5
el Lol g sluas S odpaplas

U\J}w oolaiw! MISP 4o L>"§‘3 C‘,&M ) wbuo st-? J.u\yu'ﬂ.a LQJ}A‘)_Q L}e\

10l oSS sl g olual ulal 3 Cd i Juoyd duslxa, AD
%TASKS COMPLETE = ([Completed Tasks] / [Total Tasks]) * 100

9 Gl 0l JusSS 9SG dS ol (sllsg alual sudsplaiCompleted Tasks «Jgeyd ol )d
ol Lol g slual (S oiaspliadTotal Tasks

10 S JusSS Olime el 33 €8 s Juo)d duwlxs, AP
%KEY_TASKS_COMPLETE = ([Completed Key Tasks] / [Total Key Tasks]) * 100

oy JooSS 038U dS sl 0 (SLa)E sluad siaspladCompleted Key Tasks «Jgeyd ol 5o
ol @ SL)E a1l (S euaspLis Total Key Tasks 9 <l

1016 JaeSS Olipe (ol 33 iy du0yd daslxa, AV
%USERS_COMPLETE = ([Completed Users] / [Total Users]) * 100

JusSS 1y 393 Cinllsg 39586 dS ol (313)8 sldad oimsplaiCompleted Users «Jgeyd ol 5o
Cl OlyyE aluad S saaplis Total Users 9 Llos,S

103932 SLRIV JuaS Olime olewl 3 Cd ity Muoyd dsnlxa, AA
%PHASES COMPLETE = ([Completed Phases] / [Total Phases]) * 100

9 Sl 00 JusSS 9SG aS sl (30 dluad susspladCompleted Phases «Jgeyd ol o
el ) sluas S oursplidTotal Phases

S duwlxe MISP )3 1y 05953 (2819 € i Juoyd B uisS (2 SS o 40 L 90,8 40l

10l JoSS Ll g Olo) e (wles!l y3 Cd iy Juo)d dnlea, AQ

%DURATION_COMPLETE = ([Completed Duration] / [Total Duration]) * 100
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oy JuoSS 998U aS Cnol (il g Oloy il odiddpliaiCompleted Duration «Jgeyd ol o
el by S Ole) e §geaxe sias0lis Total Duration 9 sl

10y JueSS Lyl g dioid Hldie olwl 53 GO s Juo)d duwlns, A -
%COST_COMPLETE = ([Completed Cost] / [Total Cost]) * 100

Gl 0 J1aSS (9SG 4S ol (3l g 43 Ol odidsoliadCompleted Cost «Jgayd ol 5o
ol Ly divsa S edimaglic Total Cost 9

103952 30 A6 b Ol olasl 52 €8y Ma0yd dasle, Q)
%REDUCTION_DELAY = ([Reduction in Delay] / [Total Delay]) * 100

Total Delay 9 <l 09,0 )5 A36 (udl Ol susgladReduction in Delay «Jgeyd ¢l 5
ol 03952 S s Eoozmo o0 L&d

1wl 0l gl C)}'SG 456}9 ovlwl 4 wﬁg\g 0)d dawwlxs, Y
%FORMS_COMPLETE = ([Completed Forms] / [Total Forms]) * 100

9 Hlodds JuuSS 09386 4S ol 3lp,d sluad susasolaiCompleted Forms «Jgeyd ol 5o
ol By oluad S eiaspladTotal Forms

Aidad MISP ) (2819 iy Juo)d Willons 1 3ladigad i g0yd oyl dS unisly diials dor gl Lala]

G W cwl §Sen 0590 B Glp B (ide 380 yeb D) kb SIW cwl (Sew 9
Dl Axils (6,503 palie )l salaiwl b b geyd (55l giliw

P9S s
MSP $352)8 Olaoloxa 31 (S0

)l Lle MSP )3 pge 9 Jyldie Sl 90,8 )l (5-p0

- 230 Ol dewlmo Jg0,8 (Delay): [Finish Date] - [Baseline Finish Date]

- F9ox0 23U dawle J9049: [Total Slack] - [Free Slack]
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- (2319 Cd i duo)d dawnlmo Jgeyd: [Actual Duration] / [Baseline Duration]

- O pladl luoyd duwlzs Jg0,8: [Physical Percent Complete] / 100

- 0L )l SO 5o doliys dioid duwslxs Jgayd: [BCWS] - [ACWP]

- 021 E)lB S0 )0 deliy (28lg diojd dewlxe Jgoyd: [BCWP] - [ACWP]

- 219 Oy 59y AU U duwsles Jge,48: [Actual Duration] + ([Total Slack] / [Calendar
Hours Per Day])

W) Gl (S0 9 Iidewd MISP 33 0 05 linl S 90,8 1 (Lo gad WaJg0,8 (yal 4S IS dg5

Oe0 05953 52 conizmad b Ay (Gl glaw b Gadad do 3L <0595 YUzl 9 lad LS 4
il 393 ols gyl Sladgeyd bl die)ls ol

il ) lge Jold Llg3 (2 MSP 4 bogoye Sl

dolip Ole) Wde 9 (2819 Cd 4w duoyd lawgd Oledbl opl 10595 (2819 Ole) Cide duwlxa,
:w\xj OHguo D C)T ‘LA-OUL’?E-Q d}oﬁ ..)_9.:1: < wbm g.’;\:«.!la_éj.m).) o S
[(2819 Cd o duoyd] 1 (2919 X [odi S5y deliyp Olo) k]

Lioyd 9 Cullad 12 50 odi Si) Al diosd Jawgd Oledbl (pl 109y (2819 diojd dewlxs, ¥
C;\.a:‘).)) Oyguo ol Ao dj.o‘).‘) Dgd (8 6)3T&A.?' @éb u.‘)JJMg
[(2819 b duoya] 1289 Ao X [odd (§3) 4eliyy doia]

O ) QLng 4 () wJLa.Qj Q\Jw 4> FLV.Y) < QLUJJJLAM Qg\ :oj_gﬁ wf:,,\g Juo))d Mﬂl’u Y
B f“"“““a"ﬁ b cdlad don 29l9 i Loy 6)3T@:.> ol duwlxo Sl 9 Oy 380 L)
(L cudlad Solawi / (2819 b b sl cudlad slusd) 18 i Juoyd x 100

D)1y AU oouis 3Y) dolip Olo) )l ojgﬁ e aS uad @ OLad Hlaw (0l 1033)3 20 duwlxs, ¥
il 1) Cyguo 1 OF dawles Jg0,8 .l Cdlad yo w36 (5)0l 2o 30 dewl>eo
[0)99 0 S5y doliys FyU] - [0)90 (2819 F)l] 1
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bl 9 > GulS )l cdbgipe 3ylga 9 T coue )l Oluebl Sl Cyge 1 )3 39 (2 o gs
RV w)fj.lebjy Olwlxo yo e 05950 Jasl & 9 (pilgd 45.)1{9,&. Sulae 9 S oalaswl Jad e

il 0 83)9T MSP (Microsoft Project) ,1331as 35 5353)8 9 o SRUJ g0y 13 3o

A 9 3¢ g odlaiw! Lewlad Olo) Cide duwle Sl Jgoyd opl icudlad ko) 8)90 duwslxa, )
:‘3,9":’6 Mbm J:U O g0
Duration = Finish Date - Start Date + 1

3929 Cudlad 90 o 456.3\)'T Ob) Ol duwslo Sy d}o)s o2 C’««Jw ABT Oy duwlxo, ¥
109 2 duwloen 1) Dyguo b 9 39k 2 ool (yld
Free Slack = Early Start - Late Start

Ob) o Cowd cadlad SO 3B Olo) dunlns Sl Jgoyd ol teudlad 3383 Ole) dewlns, ¥
199 2 Al 1) Dyguo b 9 39 2 odliwl oddy (§3) deliyy
Late Start - Planned Start

)90 cdlad LSJ uSJCZ.g.}J duo)d dawlxo Sy d}o).e o) g'gJ‘.a.S wf:,.:g o)d dawlxo, ¥
1392 dalns 5) g0 4 9 945 (2 OlyB oalikul
% Complete = Actual Duration / Duration

1394 s duunln ) D)gao 4 9 9 s 03l
Cost = Resource Rate * Work

28 dalipy Sladinsd Olie JAS 9 (5403b diosd damlme Sl Jg05d 0ol 1w )b iR dusslxa, &
139 g dnlone ) Cygae 4 9 392 03kl 0)9
Inspection Cost = Inspection Rate * Duration

99 .Ly\sc\.a.“.b.o b &y)& MSP @Uﬁj Ol cd};o)s)!b)‘ oal.é.l.wljl L,L.Q Aj,e'”uu' 4.;.4033

Sl 39790 (igel lie 9 B Igel 51 ilgiis copizmean S 55 Yo 4 ) Usord ,2 36
S 03wl MSP 31 oalasiu! oy Ags
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Jdo u cudlas gSg 6\56&)&) dldad dawolxn (Sl d}AJB R X% w S)g) dluad duwlxs, V
19 2 duwloes 1) Cyguo A 9 392 oolliwl odds (a8 gin Caliso Jle
Number of days suspended = Finish Date - Start Date - Duration

4 0193 SIR0W) 9 (§iy4eliy )3 S Ole dwlxe Sl Jgayd ()l 1deliy audd 40 dawlxs, A
199 2 dwloes ) Uyguo 9 392 ooliiwl jg)y o D)
Schedule Variance (SV) = Baseline Finish - Finish Date

Gyguo 4 9 g g 03wl 05953 SRS ) Oliwe duwslxo Sl 30,8 (ol 10594 LS.w:&J duwlxs, 4
Risk Score = Probability * Impact

& o Cllad 5 3,505 £9% ) dranlns 5y Jsr® 0l 19,50 89,5 GG dyanlma, ) -
:J}de wbuo);) g 4 9 ‘35’“'6' oo lasw! ouds 3% MUJ..: 'E_":JU
Late Start - Planned Start

99982 oalaiwl Olo) dluiel y3 019 Sladuid duwlxs 1y Jg0yd ()l 1daliy duiR dawlxs, V)
139 2 Ao ) Cyguo A
Cost = Actual Cost + Actual Material Cost + Actual Labor Cost

4:513‘ LSJJ)‘\ALJ)J L Cuwd O)jﬁ L:SJ’PL’ cu.wbm LS!)-’ d}n‘).‘) O"‘ :bjgx USJ}>B 41.«4‘.7&.9. \Y
1394 s duunln ) D)gao 4 9 9 s 03l
Total Float = Late Start - Early Start

0395 (2319 C8 it Juoyd e Sl Jgeyd (! (ACP): (2319 Cd ity duoyd dawnlma, VY

1394 s duunln ) D)gao 4 9 9 s 03l

Actual Completion Percentage (ACP) = Actual Duration / Baseline Duration *
100

03 oduosliwl (3le) Cide duwle Sl Jgasd cpl (TFB): (ySew 3lo) dbold AR Az, V¥
139 s dule ) Gyguo 4059 Giydaliy
Time Free Baseline (TFB) = Baseline Finish - Baseline Start

281y 403 9 Ol dwlxs Sl Jgeyd (! (BAC): ol sl Sld>ogs Olo) duwwlxs, VO
20gd e ctwl:wy) e A 9 g 2 03wl 0950 ) 0Ud LB an
Budget at Completion (BAC) = Sum of all Budgeted Cost for all activities




BY Farzaneh Nouri MBA-University Of Tehran

3908 LMz duwle Sl Jgayd ol (Vertical Difference): oges BMNWS dawlxa, \#
13982 Al ) Cyguo 4 9 39 2 o3laiunl daubsy (S5 I ged 4o dbadl 95
Vertical Difference = End Point Y - Start Point Y

S A (A Lo)s duwleoe Sl 90,9 (2l (Percent Complete): oul plead duoyd dusolxs, VV
139402 dunlnn 1) yguo o 9 D9 s 0oLl dadddy S
Percent Complete = (Actual Duration / Estimated Duration) * 100

o3l 0933 )0 Cd iy 735 Ao Slys U908 (2l (Progress Rate): Cd i &y duwlms, VA
192 dwlos 1) Dyge b 9 39b(2
Progress Rate = (Actual Duration / Elapsed Duration) * 100

Olo) ke duwslxos Sl Jg0,8 (! (Remaining Duration): 33l () Gde dawlzs, 14
19 g duunlme ) g0 4 9 39dus ooliiul didby SO OLL B odiledl
Remaining Duration = Estimated Duration - Actual Duration

Ole) e duwls Sl Jga48 ol (Planned Duration): s sw s Ole) Gide duilxns, Y-
199 s duwwlos 1) Dygeo Ay 9 3982 oolaiul dadsg SO eSS Sy ol s Sien
Planned Duration = Estimated Duration - Remaining Duration

S o3l 15 65500 Sladgasd I dlgis cObylas 3yge Sladidsy 9 oign SIS 4 diw
sl diisld 36 U 90,8 (Sl syl 9 Ciuyad 4y Hlo Cannl (S (e

239 pldl gl dewwlxa 1y J9058 (2! (Project Finish Date): &gy plod! g3yl dawwlons, Y
1394 s duunln ) D)gao 4 9 9 s 03l
Project Finish Date = Latest Finish Date of All Tasks

S £9 4 Fyl duwlo Sl Jgoy® () (Next Start Date): o £9. 2 )l danlxo, YY
1392 dawloms ) Cygue 4 9 39 2 ooliiwl Sldalsg
Next Start Date = Latest Finish Date of Predecessor Tasks

S OLL 2oyl duwlxs Sl 9058 (! (Next Finish Date): S Obb Eo)b dewlxs, YY
1392 dawloms ) Cygue A 9 39 2 ooliiwl Sldadsg
Next Finish Date = Next Start Date + Task Duration

diuyd £9 4 oyl duwlxo Sl Jg0y8 ol (Late Start Date): diapd §9 4 )l dawlxe, YY
109 2 duwloeos 1) Cyguo Ay 9 39 2 ool dandsg SO
Late Start Date = Project Finish Date - Total Slack
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oy OLL Fo)l dewlxo Sl 90,8 (2l (Late Finish Date): dod OLL 7o)l dewlxs, YO
13988 deslme ) g 9 29 s oolkinl dady S
Late Finish Date = Late Start Date + Task Duration

4i339) §9.% Foyl dewle (Sl Jg0y8 ol (Early Start Date): 4239) §9 % )l duwlxs, Y
13988 deslme 1) Cyygao 4 9 29 s oolkinl dadby S
Early Start Date = Latest Early Finish Date of All Predecessor Tasks

4239) b ol dawle Sl Jgeyd (1l (Early Finish Date): 4i239) Obb )b dewlxs. YV
1398 deslme 1) Ciygao 4 9 292 oolkinl diaby S
Early Finish Date = Early Start Date + Task Duration

dabs9 SO (3l sy duwsloe Sl 90,8 ol (Schedule Variance): 3l) 33 v duwlxs, YA
:.in:u- ctwl:u).:) Oyge 4 9 .35.&‘; oo laiw!
Schedule Variance = Earned Value - Planned Value

dabog S diid o) dewlxe Sl Jgeyd (! (Cost Variance): dioid 39) v duwlxo. YA
:.in:u- ctwl:u).:) Oygo 4 9 .35.&‘; ool
Cost Variance = Earned Value - Actual Cost

dwlxo Slp Jgey® opl (Work Completion Percentage): )8 JuSS duoyd duwlxas, Y-
194 dpuslme ) Chyga0 4 9 39 s 03l dadby S B JusSS i)
Work Completion Percentage = (Actual Work / Remaining Work) * 100

o)d duwsle Sl Jg0y® cpl (Work Percent Complete): )5 Cd & duoyd dawlns, Y'Y
13982 s 1) Cygao A 9 92 03l dddy SO HBS
Work Percent Complete = (Actual Work / Total Work) * 100

230 Sy slad dewls Sl J30,0 () (Days Delayed): AU sla)gy sluad dewlxs, Y'Y
g4 2 d.wl::.oj.)) Cyguo A 9 D9 2 o lasiw! daudsg ;ig).)
Days Delayed = Task Finish Date - Task Baseline Finish Date

Sl (i)l dewloxs Sl J9059 (2l (Planned Value): sdi ($30)doliyy (b))l dasolza, YY
:33-‘1’@ ML?:AJ;{) Oyge 9 33‘“’&’ oo lasiwl d.n.z.bg dg o
Planned Value = Planned % Complete * Planned Cost
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ool daulby SO (2319 (o))l dussloms Sl U058 (2l (Earned Value): (28l o)yl dawslxs, YF
13942 delxe ) Cygre 9 3982
Earned Value = Actual % Complete * Planned Cost

oolail dadsg SO (2819 diujd duwlxs Sl Jg0y8 (! (Actual Cost): (2319 Ao dawlxs, YO
1394 dawolxo 1) Cygao 4y 9 3942
Actual Cost = Actual % Complete * Actual Cost

S 00 LSy il duwlxo Sl J90y8 ¢l (Number of Risks): W Suo) dlual dewloxs, Y5
0gd 2 Wl::m))) e A 9 g 2 oolaiuwl 09y
Number of Risks = Count of Risk Records in Project

duwlo Sl 90,8 ol (Budget Percent Complete): 43293 Cd it Juo)d dawlxa, YV
D92 duwnln 1) Cyguo 9 39 2 03wl 05951 (S0 dzrd gy B ey Juo)d
Budget Percent Complete = (Actual Cost / Planned Cost) * 100

o3kl 03953 o 36 Oloj Ao Sl Us0y8 (2l (Schedule Delay): A5G Ol duwlors, YA

1942 dplxe ) Cygre 9 3982
Schedule Delay = Project Finish Date - Project Baseline Finish Date

S0 Yl Ole) duwls Sl Jg0,8 ol (Standard Deviation): 3yluilivsl Ole) duwslxs, ¥4
1392 dunlone ) Cygae 4 9 392 03kl 0)9
Standard Deviation = Square Root of the Variance

Lo)d duwle (Sl Jg0y8 (2l (Resource Utilization %): gl )1 05liwl uoyd dawslxs, ¥
139402 duwnlxo 1) C)guo 0 9 39 2 03l 03953 S o ol jl oolaiwl
Resource Utilization % = (Actual Work / (Actual Work + Remaining Work)) * 100

S)9)y il duwlo (Sl Jg0,8 (3l (Remaining Days): 6ileadl sla3g)y dldad duwslxa, F)
D9 e ) a0 4 9 D9 g 00\l dadby S5 3 oilesdly
Remaining Days = Task Finish Date - Current Date

Sy Jgayd ) (Number of Change Requests): s Sl Cuwlgsyd dlal duwlxa, FY
13942 dawolxo 1) g0 Ay 9 D92 03Laiu] 0950 SO 30 andS BB Cawwl g3 Sl dwnlxo
Number of Change Requests = Count of Change Request Records in Project
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Tuoua duo)d duwls Sl J 9058 (ol (Schedule Variance): el p zuoeal duoyd dawlxas, FY
19 g duunle ) Cygao 4 9 39dss 03wl 0595 o 3 deliy
Schedule Variance = (Planned Value - Earned Value) / Planned Value * 100

Ao Puownal duo)d dewlxe Sl Jgeyd ol (Cost Variance): dioid zuomal duo)d dawlxs, FF
139402 dunlen 13) Cyguo o 9 39 s 0Ll 83953 SO o
Cost Variance = (Planned Cost - Actual Cost) / Planned Cost * 100

255 dewloes Slp Ugeyd ol (Schedule Performance Index): $iueyd a3 duwlxe, FO
109 2 Mbuy) Cyguo 4 9 g 2 ool ojgx gi“:).) Gdu)d
Schedule Performance Index = Earned Value / Planned Value

dnlxo Sy Jgay8 ol (Paid-To-Date): suds Cloy Jl> o B dS Sldioid duwlxs, TP
13942 drwolno 1) a0 Ay 9 392 0Ll 09 SO 40 s 3oy > 4 6 aS (sldinz
Paid-To-Date = Actual Cost

S50 0ilapdl did dwle Sl J9ay8 (2l (Remaining Cost): o5kl diojd dewloes, FV
199 s duwlos 1) Dygo Ay 9 398 2 oolaiwl 0)g
Remaining Cost = Planned Cost - Actual Cost

Slyp Jgasd ol (Overall Project Percent Complete): 53953 JS Cad it Juo)d duwlna, FA

19 Ao ) Cygao 4 9 D9 03wl 039y S Cd oy duoyd druslmo

Overall Project Percent Complete = (Total Earned Value / Total Planned Value)
*100

Slias duwl=e Sl Jgeyd (pl (Available Resources): (waws yd ol dldald dewlxs, FA
:3.9"5"’6' Ml:m‘)::‘) OHguo 9 Jj.be; oalaiwl 0_3_9).3 &3).) u»jm.)).) &)l.«.o
Available Resources = Total Resources - Allocated Resources

Cd iy Loy dawslxo (Sl Jg0y8 (ol (Bold Progress %): M g3 < it Juo)d dailns, O
1988 drslxs ) Cygao 4 9 39 03kl 095 o )3 Wy
Bold Progress % = (Completed Tasks / Total Tasks) * 100
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